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Question Id : 342123463 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the percentage (%) distribution of students in M. Tech. (Computer
Science) class, who got employment in the areas of Hardware, Software Quality Assurance
(SQA), Software Development and others during the five years from 2019 to 2023, alongwith the
average starting salaries of students per month (in Rs.) in these areas during the same years. The
total numbers of students who passed out in the years 2019-2023 are 800, 600, 1100, 1200, and
1000, respectively. Based on the data in the table, answer the questions that follow

Emplovment — Area wise details of students
2019 2020 2021 2022 2023
EmploymentArea | 1| o 1| 1 [1]| ¢m [1| @ |1| T

%l T (%] T [%] T %] T || %

%o %o 0 %o 0
Hardware 22154500( 1763800 (2317550019 {8920032 (98100
SQA 36{51700 |48 (6390043 [ 76300{37 (89600 32102200
Software Development [ 1913290023 [ 64400 (217030016 | 77600 [ 20 [ 86400
Other 2342600 112{50900 )13 {60200 |28 [66400| 16| 73400

Where I represents percentage distribution of students who got employment and II represents the
average starting salary of students per month (in ¥)

Sub questions

Question Number : 1 Question Id : 342123464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In all the five years, the number of students getting employment in Hardware is
less than the number of students getting employment in SQA.

1. 826
2. 630
3.734

4. 548



Question Number : 2 Question Id : 342123465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage increase in the average starting salary (per month) of employment in
Hardware in the year 2023 with reference to the year 2019?

1. 60%
2.32%
3.96%
4.80%

Question Number : 3 Question Id : 342123466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the average monthly salary offered to an M. Tech. (Computer Science) student in 20207
1. 160750
2.363300
3.763333

4.364030

Question Number : 4 Question Id : 342123467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In 2021, students getting employment in Hardware earned ¥ lakhs more than those
getting employment in Software Development (per annum).

1.430
2.33792
3.284.12
4.3243

Question Number : 5 Question Id : 342123468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The average monthly salary offered to an M. Tech (Computer Science) student in 2023 is
approximately % more than that in 2022.

I:12:47
2.17.14
3,25

4.543

Question Id : 342123463 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 342123464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.826
2. 650
3.734
4. 548

Question Number : 2 Question Id : 342123465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 2023 W BISdR & & H AR U1 3 el & RIS (i) de #2019 B
i1 | febed Wi 9 g3 6o

1. 60%

2.32%
3.96%

4.80%

Question Number : 3 Question Id : 342123466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

4. 3 (R fagH) faardf ol 99 2020 T Ued Sed TS do fdar g2
1. 260750
2.2.63300
3.263333

4.3 64030

Question Number : 4 Question Id : 342123467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.430
2.337.92
3.284.12
4.3243

Question Number : 5 Question Id : 342123468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ¢ (e faq) o faepell o1 o 2023 1 e Sl Tl dei 9 2022 T SfUe
GuEly % iU g

1.12.17
2.17.14
3.25
4.543

Sub-Section Number : 2
Sub-Section Id :

Question Shuffling Allowed :

34212320
Yes

Question Number : 6 Question Id : 342123469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The number of digits an individual can report back without error in a single presentation
represents

L. chunking
2. memory span
3. phonological loop

4. Time Zone

Question Number : 6 Question Id : 342123469 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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1. i
2. Wi afy (&)
3. GG (HGID) 0

4, T &7

Question Number : 7 Question Id : 342123470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A history teacher wants to create an interactive timeline showcasing the evolution of different art
movements over centuries? Which tool would best support the creation of this multimedia
presentation?

|. Prezi
2. Adobe Illustrator
3. Flipgrid

4. Google forms

Question Number : 7 Question Id : 342123470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 342123471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A collection of the student's work in an area, showing growth, self reflection, and achievements is
known as:-

I. Modelling
2. Portfolio
3. Mastery goal

4. Problem solving

Question Number : 8 Question Id : 342123471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 9 Question Id : 342123472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Swayamprabha Channel No. Theme
A | Channel 03 (PRABODH) 1. |Education and Home Science
B. |Channel 04 (SAARASWAT) | II. |Information, Communication and Management Studies
C. | Channe] 05 (PRABANDHAN) | III. |Law and Legal Studies
D. |Channel 06 (VIDHIK) IV. | Social and Behavioural Sciences

Choose the correct answer from the options given below:
1. A-IL, B-IV, C-III, D-1
2. AL B-L, C-IV, D-II
3.A-IV,B-I, C-I1, D-III

4. A-1, B-II, C-II, D-IV

Question Number : 9 Question Id : 342123472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al 1D 1Y Gt 11 T e Sifse
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A | 999 03 st I | IR e o

B. |dHd 04 FRWED) | 11 |1, T9R AR e &g
C. |=29d 05 (WEeH) | 1L | A 3R fafs srema

D. |99d 06 (f@fE® | Iv. | 9MIG® 3R 9eR e f[age

i fqu U fasedl H U ol 3R &1 999 Hifv:

1. A-IT, B-IV, C-III, D-I

[

. A-IITL, B-1, C-1V, D-1I

(5]

SA-IV, B-1, C-II, D-III

4. A-1, B-11I, C-1I, D-1V

Question Number : 10 Question Id : 342123473 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII

Term Meaning

A |Decistonmaking | I [The tendency to hold on a belief in the face of contradictory evidence.

The tendency to have more confidence in judgement and decisions than we

o |Gotimiiion bia | 2 should based on probability.

C Beltef m The tendency to search for and use information that supports our 1deas
" | perseverance " | rather than refuses them.

D Overconfidence

Nbias IV. | Evaluating alternatives and making choices among them.

Choose the correct answer from the options given below:

1. A-IL B-1V, C-II, D-I
2. A-IL, B-III, C-IV, D-1I
3. A-IV, B-IIL C-I, D-II
4. A-L B-II, C-IV, D-III

Question Number : 10 Question Id : 342123473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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[. A-IIL B-1V, C-11, D-1
2. A-IL, B-III, C-IV, D-I
3.A-IV,B-IIL C-I, D-II
4. A-L B-IL C-IV, D-III

Question Number : 11 Question Id : 342123474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research approaches suggests that theory is an outcome of research?

. deductive approach
2. inductive approach
3. quantitative approach

4. cross-sectional approach

Question Number : 11 Question Id : 342123474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



75 B 1 2y i3 g8 =i § fob Ragid Ty s1aRoma ¢
L. FITHATHS 3T

 SHNEATHS SUNTH

3. GRATAS IUTTH

4. UfdeATdS SUNRH

[

Question Number : 12 Question Id : 342123475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the sample has been randomly selected, which among the following may be expected in
cross-sectional research designs?

A. strong external validity
B. weak external validity
C. weak internal validity
D. strong internal validity

Choose the most appropriate answer from the options given below:

l.OnlyAand C
2.0nlyAand D
3. OnlyBand C

4.OnlyBandD

Question Number : 12 Question Id : 342123475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 13 Question Id : 342123476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If you want to understand the theoretical reasons that led researchers to conduct a study that

appeared as a research article in a journal, you would read which of the following sections of the
research article?

1. discussion
2. abstract

3. introduction
4. results

Question Number : 13 Question Id : 342123476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 14 Question Id : 342123477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The students' t-test would be useful for?

A. comparing two groups to see whether their means differ.

B. comparing multiple groups (more than two) to see whether their means differ.
C. testing the significance of correlation coefficient.

D. testing the significance of regression coefficient.

Choose the most appropriate answer from the options given below:

1.Only A, Band C
2.0nlyBand D
3.0nlyA,Cand D
4.0nly A,B.Cand D

Question Number : 14 Question Id : 342123477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 15 Question Id : 342123478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the probability sampling techniques?

A. simple random sampling
B. snowball sampling

C. stratified random sampling
D. convenience sampling

Choose the most appropriate answer from the options given below:

l.Only Aand B

[

.OnlyBand C

L

.Only Aand C

4.Only B and D

Question Number : 15 Question Id : 342123478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. hdd A 3R B
2. HIAB 3R C
3. hAd AR C

4. HadB AR D

Question Number : 16 Question Id : 342123479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Description of “actual words, written or spoken, used to tell a story” and images or pictures come
under the category of

1. Discourse
2. Event
3. Law

4. Performance

Question Number : 16 Question Id : 342123479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 17 Question Id : 342123480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The general context of communication is known as communication -

. situation

—

2. position

[

. praxis

4. convention

Question Number : 17 Question Id : 342123480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 18 Question Id : 342123481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are essential elements of mass communication?

A. Electronic observation

B. Technological medium

C. Large audience

D. Professional communicators
E. Organizational structure

Choose the most appropriate answer from the options given below:

1.Only A.B.E

I3

.OnlyA.C.D

(s

.Only A,C.D.E

4.0nlyB,C,D,E

Question Number : 18 Question Id : 342123481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 19 Question Id : 342123482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following, in communication, are the rhetorical structures’?

A. paralanguage
B. clusters

C. form

D. genre

E. narrative

Choose the most appropriate answer from the options given below:

l.Only A,B.C,D

[

.OnlyB,C.D.E

LS

.OnlyA,C.E

J_:_'

.OnlyA, D, E

Question Number : 19 Question Id : 342123482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 20 Question Id : 342123483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Patterns of Communication Social Unit
Phyvsical situation 1. | Participants
Persons involved in interaction II. |Key

Manner of communication enacted | I1I. | Instrumentality

olo|w|»

Channels of communication IV. | Scene or setting

Choose the correct answer from the options given below:

1. A-I, B-II, C-IIL, D-1IV

b3

. A-II, B-II, C-IV, D-1

sl

- A-IILL B-1V, C-1, D-II

4+

. A-IV, B-1, C-II, D-III

Question Number : 20 Question Id : 342123483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i fqu U fasedl H U ol 3R &1 999 Hifv:

1. A-I, B-II, C-III, D-IV

ololw|s

[

. A-II, B-III, C-IV, D-I

(5]

CA-IL B-1V, C-1, D-II

4. A-1V, B-1, C-II, D-III



Question Number : 21 Question Id : 342123484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Working 9 hours a dav. 12 persons complete a work in 25 days. Working 6 hours a day, 15
persons can do the same work in

1. 28 days

]

.29 days
3. 30 days
4. 32 days

Question Number : 21 Question Id : 342123484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1,28 feft o
2,29 fed
3.30feATH
4. nfed

Question Number : 22 Question Id : 342123485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the letter series, some of the letters are missing. Complete the given letter series by choosing
the correct alternatives from the options given below.
b b bb bbb bb b

l.bbbbba

2.bbaaab

3.ababab

4.aabaab

Question Number : 22 Question Id : 342123485 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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b b bb bbb bb b

I.bbbbba
2.bbaaab
3.ababab

4.aabaab

Question Number : 23 Question Id : 342123486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Three successive discounts of 30% on the marked price of an item are together equivalent to a
single discount of

1. 90%
2.27%
3.65.7%
4.78.2%

Question Number : 23 Question Id : 342123486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.90%
2.27%
3.65.7%
4.738.2%

Question Number : 24 Question Id : 342123487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word *STORK is coded as “VQRON”, then the word
"TIRED’ will be coded as

1V EEGE
2.WFUBG
3. WETCEG

4 VFUBF

Question Number : 24 Question Id : 342123487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U % Beeia HIN H, 65 *STORK ®I “VQRON® Y fed [l Tl ¢, d Tea
“TIRED"®I &< BI1I|

I VEELCE
2.WEUBG
3.WETCG
4 VFUBEF

Question Number : 25 Question Id : 342123488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A person travels from X to Y at a speed of 50 kmv/hr and returns from Y to X by increasing his
speed by 50%. His average speed during the journey is

1.62.5km/ hr
2,60 km/ hr
3.62km/ hr

4.64 km / hr

Question Number : 25 Question Id : 342123488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. 60 bl / o
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Question Number : 26 Question Id : 342123489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Molecules are in random motion. Qutub Minar is composed of Molecules. Therefore, Qutub
Minar is in constant random motion.” Identify the fallacy committed in the above statement.

1. Equivocation
2. Slippery slope
3. Hasty generalization

4. Fallacy of composition

Question Number : 26 Question Id : 342123489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. e ga

3, HfddTd G
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Question Number : 27 Question Id : 342123490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If the statement “Some birds are not mammals” is given as true, which of the following
statements can be immediately inferred to be false?

1. Some mammals are not birds.
2. Some birds are mammals.
3. No birds are mammals.

4. All birds are mammals.

Question Number : 27 Question Id : 342123490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 28 Question Id : 342123491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent?

A. Some non-birds are mammals.

B. Some birds are not mammals.

C. Some non-mammals are non-birds.

D. Some non-mammals are not non-birds.

Choose the most appropriate answer from the options given below:

1. A, B and C Only

[

. A and C Only

(5]

. C and D Only
4. B and D Oanly

Question Number : 28 Question Id : 342123491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 29 Question Id : 342123492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is correct in the context of Syllogism?
A. With two negative premise; affirmative conclusion can be drawn.
B. Predicate of the conclusion is the minor term.
C. Middle term must be distributed at least once in the premises.

D. With two universal premises, particular conclusion can be drawn.
E. The term distributed in the conclusion must be distributed in the premises.

Choose the most appropriate answer from the options given below:

1. B and C Only
2. Aand C Only
3.D and E Only

4. C and E Only

Question Number : 29 Question Id : 342123492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 30 Question Id : 342123493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to classical Indian school of logic (Nvava) which fallacy is committed in the following
argument “Anything that is thinkable is nameable because it is thinkable™.

|. Asadharana
2. Saadharana
3. Asrayasiddha

4, Svarupasiddha

Question Number : 30 Question Id : 342123493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 31 Question Id : 342123494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the first
generation electronic computer?

1. Transistor based
2. Integrated Circuit based
3. Vacuum Tube based

4. Dual Core CPU based

Question Number : 31 Question Id : 342123494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 32 Question Id : 342123495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements best describes a blog?

I. A website that allows multiple users to collaborate and create information.

2. A chronological list of posts on a website typically written by a single author about a
subject.

3. A series of audio or video episodes that subscribers download or stream to their devices.

4. A standardised format that allows users to subscribe to view content updates from a creator.

Question Number : 32 Question Id : 342123495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 33 Question Id : 342123496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dentify the sequence of words A-E that correctly fills the blanks in the following paragraph:

The is the “brain’ of the computer and the processor made by Intel is an
example of this. The speed of the processor is measured in is a volatile
memory whereas 15 used in most computers to hold a smal[ special piece of software

known as the *boot up’ program,

A.ROM
B.CPU

C.RAM
D. Pentium

E. Hertz

Choose the most appropriate answer from the options given below:

.B,D,E.C,A

2.D,/B,C.EA

3.C,D,EAB

4.B,E,D,A,C

Question Number : 33 Question Id : 342123496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 34 Question Id : 342123497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L) represents a number L in base-M number system, then which of the following equalities

are true?

A. (127.125)9= (1111111.001),
B. (127.125);0= (1333.02),

C. (127.125)p=(177.1)g

D. (127.125);= (TE2)s6

Choose the most appropriate answer from the options given below:
I. Aonly
2. Aand B only
3.A,Band C only

4.A,B,CandD



Question Number : 34 Question Id : 342123497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. (127.125)10=(1111111.001),
B. (127.125)9 = (1333.02),

C. (127.125)19=(177.1)g

D. (127.125)19 = (TE2)y¢
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Question Number : 35 Question Id : 342123498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-II

LISTI LISTII
(Malware types) (Characteristics)
A |Trojan Horse [. |Propagates copies of itself through a network

Worm II. | Triggers action when certain condition occurs

B
C. |Logic Bomb I1I. | Hooks standard OS calls to hide the existence of malware
D

. | Rootkit IV. | Contains unexpected covert effect

Choose the correct answer from the options given below:
1. A-I, B-1V, C-II, D-TI
2. A-IV, B-11, C-1, D-III
3. A-IL, B-I, C-1IL, D-IV

4. A-IV, B-1, C-1I, D-III



Question Number : 35 Question Id : 342123498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-L, B-IV. C-IIL, D-II
2. A-IV, B-1I, C-1, D-III
3. AL B-L, C-IIL D-IV

4. A-IV, B-L, C-II, D-III

Question Number : 36 Question Id : 342123499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The convention of Biological Diversity (CBD) was first opened for signature during

1. Conference on human environment
2. Earth Summit
3. Montreal Protocol

4.COP1

Question Number : 36 Question Id : 342123499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 37 Question Id : 342123500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

To understand the Global Climate Change, GCM model are widely used. GCM stands for

A. Global Circulation Model
B. General Circulation Model
C. Global Climate Model
D. General Climate Model
Choose the most appropriate answer from the options given below:
|.Only Aand B
2.0nlyBand C
3.0nly CandD

4.OnlyAand D

Question Number : 37 Question Id : 342123500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 38 Question Id : 342123501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dissolved Oxygen (DO), a water quality parameter, is essential in which of the following water
bodies/sources?

A. River Water
B. Lake Water
C. Tap Water
D. Underground Water
E. Pond Water
Choose the most appropriate answer from the options given below:
I. A, BandE Only
2.Cand D Only
3.B.D and E Only

4.A,C,DandE Only

Question Number : 38 Question Id : 342123501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 39 Question Id : 342123502 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a breeder reactor

1. More fissile materials are produced than it is consumed

I3

. Less fissile materials are produced than it is consumed
3. Neutrons are slowed down by moderator

4. U-238 a fissile material 1s produced from Pu-239 a fertile material.

Question Number : 39 Question Id : 342123502 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 40 Question Id : 342123503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When a water body becomes extremely low in nutrient content, then it is called as
1. Dystrophic
2. Oligotrophic
3. Mesotrophic

4. Eutrophic

Question Number : 40 Question Id : 342123503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 41 Question Id : 342123504 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



An important feature of the third five year plan was

1. Abolition of Education Commission.

2. Reduction in the number of colleges

(el

. Setting up examination research units in some universities

4. More emphasis on open book examination.

Question Number : 41 Question Id : 342123504 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 42 Question Id : 342123505 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Pollicy, 2020 aims to create

1. fragmented universities

[

. online universities

(]

. knowledge hubs

4. corporate clusters of education

Question Number : 42 Question Id : 342123505 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 43 Question Id : 342123506 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dr. Baba Saheb Ambedkar was associated with:

A. Presidency College, Kolkata
B. Khalsa College. Mumbai

C. Siddharth College, Mumbai
D. Milind College, Aurangabad
E. National College, Bengaluru

Choose the most appropriate answer from the options given below:

1.Only A, B, C

[

.OnlyB,C,D

L]

.Only C,D.E

4.0nlvA.D.E

Question Number : 43 Question Id : 342123506 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 44 Question Id : 342123507 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following universities were multi-disciplinary in ancient India?

A. Banaras Hindu University
B. Takshashila
C. Nalanda

D. Vallabhi
E. Vikramshila

Choose the most appropriate answer from the options given below:

1.OnlyA.B.C

]

.Only A, C,E

Lo

.OnlyA,D.E

4=

.OnlyB,C,D,E

Question Number : 44 Question Id : 342123507 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



99 O ¥ &1 ¥ fayfaared Urei- YR & 90 9gdvdd 4o
A. 99RY fg=g fayfaarey
B. J&RIaT
C. FTcial
D. dedHl
E. f[ahAfre
T fSU U fadedl § U T 3R &1 994 HIfoU:
I.®dd A, B.C
Hdd A.C.E
" HAA A, D, E

4. HddB.C.D.E

[

(]

Question Number : 45 Question Id : 342123508 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy, 2020 recommended the integration of humanities at the
undergraduate level with subjects of

A. Science

B. Technology

C. Engineering
D. Mathematics

E. Propaganda techniques

Choose the most appropriate answer from the options given below:

.OnlyA,B.C,D

2.0nlyB,C.E

3.0nlyA,C,D.E

4.OnlyA,B,D.E

Question Number : 45 Question Id : 342123508 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Id : 342123509 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension



A. K. Ramajujan was one of those thinkers, like Freud (whom he greatly. though not uncritically,
admired), who so transform our way of looking at a subject that we are in danger of undervaluing
their contribution, since we have come to take for granted precisely what they taught us, as we
view the subject through their eyes. At a time when the American Indo-logical establishment
regarded native Indian scholars merely as sources of information about language and texts, like
the raw fiber that were taken from India to be processed in British mills, but seldom as scholars
who might have their on ideas about how to process those texts, Raman taught them all how to
weave a theory, a folktale, a poem, a book. Raman taught the all how to weave a theory, a
folktale, a poem, a book. Long before it was politically respectable, let alone politically correct,
to study the works of women or of “illiterate” peasants, Raman valued their poetry, their stories
and their counter-systems. At a time when Indian literature meant Sanskrit, and Sanskrit meant
Greek and Latin, Raman arrived in Chicago to join Edward C. Dimock and the other “founding
fathers’ in proclaiming to the world the relevance of Tamil and Bengali and the other mother
tongues. Without so much as raising his gentle voice, he blazed a great path through the centre of
Indological studies. He gave us so many new paradigms that no Indologist can now think about
India without thinking through his thoughts

Sub questions

Question Number : 46 Question Id : 342123510 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who 1s A.K Ramanujan compared to in the text?

1. Chomsky

[

. Sigmund Freud

. Brunvand

LS

4. British Mill Owners

Question Number : 47 Question Id : 342123511 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What did Ramanujan teach in America?

1. Process raw fibers in British mills

[

. Weave theories, folktales, poems and books
3. Only Sanskrit literature

4. Only English Literature



Question Number : 48 Question Id : 342123512 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The languages that Ramanujan tried to bring to limelight in Indological studies is

1. Greek and Latin
2. Only Sanskrit
3. Tamil, Bengali and other mother tongues

4. French and German

Question Number : 49 Question Id : 342123513 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ramanujan emphasised on

L. The criticism on the British mills

3

. Creating controversies in American Indological Studies

L

. A path through Indological Studies

4. The study of Western languages only

Question Number : 50 Question Id : 342123514 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who were the ‘Founding Fathers’ that Ramanujan joined in Chicago?

1. British Mill Owners

[-2

. American Indo-logical establishment leaders

. Edward C. Dimock and others

L

4. Greek and Latin scholars

Question Id : 342123509 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Question Number : 46 Question Id : 342123510 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 48 Question Id : 342123512 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 49 Question Id : 342123513 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 50 Question Id : 342123514 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 51 Question Id : 342123515 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 51 Question Id : 342123515 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 342123516 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 342123516 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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4, GEE
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 56 Question Id : 342123520 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ZIISBRES A B B e < B B I 12
iy

1
2. Bk
3. B
4. far

Question Number : 57 Question Id : 342123521 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD_EFOEN L, EOLINEFEEEFTH, AUEFEFEIEDE (1)
~(4)DHALEVEAL,

BATHLOENTONE,

1. BBRACAVEPEEEBZ TN,
2. FHLLPIEL BHAILESEWT,

3. ZOHRRELAZHL,

4, INCEBCEIBILIETH,

Question Number : 57 Question Id : 342123521 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXD_EROBN L, EOLIBEFEZEELTN, RUEFEFEIEOE (1)
~(4DFNSEVEAL,

HATHLOERTONL,

1 ABRACAVEPEEEBZ TN,
2. THLLPIEL BEAILESLWT,

3. ZOHIRELAZSL,

4. ENCERBELIBILIBTER,

Question Number : 58 Question Id : 342123522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXOD CAZREELEENE (1)~ (4) DRNRTHIL,

FRMYTRILEFROTRL., LB ELRBAOREEZED
BT HRIELINRTHS,

1. 5545

2. [BEHT]

3. [5FED-0%]
4. [LASHELR]

Question Number : 58 Question Id : 342123522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



KOO CABREBHLEDE (1)~ (4) OFNEEVREL,

FYTBILLBEBROREL, FHICEESHBAOREESD
BT WL THS,

1. 515

2. [BEHS]

3. [0
4. [LADHER]

Question Number : 59 Question Id : 342123523 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD_ CABREBEYEEDZ (1)~ (4) OHRASREVEI,
(FEERH B CHESHMN 20R ORI MNAE LA, RBORDHE
BT, REOFICV-IVEEBLT, 20 HEEREVIFETHD,

1. [#A ]
2. [REBAIFA]
3. [RADM)
4. [ E]

Question Number : 59 Question Id : 342123523 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXO CABREBLHEDE (1)~ (4) DFN5EUHEL,

_ IXEEHSTHEHMNZOR ORI MAE LA, REDANE
BWoT REDFICVHEVESBLT. 20 HEEZEVDETHD,

1. (A7
2. [BEAIFAI]
3. [RADM)
4. [9E]

Question Number : 60 Question Id : 342123524 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOO CABREELBENE (1)~ (4) DHRHSEDEIL,
(F[/Eeds | OEROEFLELT, HICRBIELEERTHS,

1. [BEZEH]
2. [HHELRE]
3. [BAXNEZELE]
4. [3hhiE]

Question Number : 60 Question Id : 342123524 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOO CARBREELLEDE (1)~ (4) DFRNEVESL,
(E[ /G eE ) OEROEFLELT, HICRBIELEERTHB,

1. [BEZEH]
2. [HEELETE]
3. [BAXNELE]
4. [hhiE]

Question Number : 61 Question Id : 342123525 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

KOO CARBREELLEDE (1)~ (4) DFRNEVESL,
(LB RICE>THS, FELTHRFELZ<EDED(L THd,

1. B3

2. BAZED

3. &

4. BEFRER

Question Number : 61 Question Id : 342123525 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOO CABREBLBENE (1)~ (4) DRASEDHIL,
(LD ARICETHS, RELTHRERZCEDIEDE TH3,

1. Bt

2. BAERT

3. fid

4, BEER

Question Number : 62 Question Id : 342123526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOO CABREELREDE (1)~ (4) DFHSRUHBAL,
1001 BEEBTIEREEMH L, Y3-ba-peWIFLW I IERBALE SF {E
Rl TH 2,

1. 7%)IREB
2. IRIES
3. Bifi—

4. MBI



Question Number : 62 Question Id : 342123526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CARREBELEOE (1)~ (4) DRNSRULIL,
1001 BABIEREEM L, Y3-Fa-ReVIFHLWIvIINERBNLUE SF 1F
R THa,

1. 7&)IIRER
2. IRNES
3. B¥f—

4. MARFR

Question Number : 63 Question Id : 342123527 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RDXD CABREEIREDE (1)~ (4) DRASEUEI,

ILALICHERS LEWNTHS,

5 95015
2. UBHHTENL

3. UBHHTHNNDT
4. A baGHUNREL

i 8

Kk KF

F

Question Number : 63 Question Id : 342123527 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RDD CABREEHBEDE (1)~ (4) DHRNLREVEEL,

ILALICHERS LEWTHS,

1. IbmHIoLN1RS
L E N
3. ABHHTBNNGT
4, SI5GEALNREL

2.

I-F <t



Question Number : 64 Question Id : 342123528 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RO CASREBEBEDE (1)~ (4) DPNRVLIL

BitIRERE DfFEEVELTINS,

1. B
2. 5%
3. [2oh
4. BtH

Question Number : 64 Question Id : 342123528 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RDXD CASREEHBEDE (1)~ (4) DRHSEVREL.

Bzt FRERE DfFEEVELTNS,

1. CBH
2. A
3. [22N
4. BtH

Question Number : 65 Question Id : 342123529 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXO CABREBLLEDE (1)~ (4) DHRHSREUHIL.

HNBOAEEDE BEt &L,

1. ELTE:
2. 1'bLT
3. LEdN
4. IT5

Question Number : 65 Question Id : 342123529 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXD CAZREELEEDE (1)~ (4) OFNERUEIL.

HNBOAIFEEDE Bt EE,

1. LT
2. B"6LT
3. LN
4. H'TH

Question Number : 66 Question Id : 342123530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CABREELLEDE (1)~ (4) DRHBRUBS,

BEEFO—FPFIT, BORERE, ELEM. REPEESBEDITK

(38

-
=
E:[S

mk
i
3

(W8]
=
E:j 2

I
NG
CRE
|

Hp

Question Number : 66 Question Id : 342123530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CABREELLEEDE (1)~ (4) DFNSRUBIL,
FEEFO—FPIT, BOFREFZE, BREL. REPEAREOIRK

ZR3,

=
b

10 f‘

i
i
3h

(W8]
=
b

N
™
CRE
|

Hp

Question Number : 67 Question Id : 342123531 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

ROXD CAZBREELBE0E (1)~ (4) DRNSRULE.

[HEICEELADLD DG ELHNILHFEF D DR ELHYET . JEWIS
_ OXEINSEI TS,

kD
2. 19
3. 41
4. 12

Question Number : 67 Question Id : 342123531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

03'{) CABREELREDE (1)~ (4) DRHRUHBEL.

(& CHELADLHORESHNSHBERIHOTELHYET, J WIS
DXENSHEI TS,

9
2, 190
2 41
4. 12

Question Number : 68 Question Id : 342123532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



KOO CAZREELLEDE (1) ~ (4) DRNRVRIL,

= 3li EVWIBRENLLEDNSH, TEVEL T, BEVRRENEL
BULILEWIBHREEEIOIEDEE, SEEEENLENBRADTEEL(K
LTW3,

1. AYVESRD
2. ABE%ERD

3. BEEGD
4. BREBRD

Question Number : 68 Question Id : 342123532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 {) CARBREELRENE (1) ~ (4) ORARVEIL,
53 LW ENLEONADY, [EYELT, BEVREBVEL

BLEIICEVWIBHESEIOIENR, SEEEEDSRVERADTER &K
LTW3,

1. AVERD
2. ABEEZRD

3. BREGD
4, BIERD

Question Number : 69 Question Id : 342123533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXD CAZBREELHENE (1)~ (4) DRHMSETEEL,

[FEAR®D J-Pop HFETHB,
1. FZAEAN
2. iREE
3. tHEH
4. )I1E -8R

Question Number : 69 Question Id : 342123533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXO CARBEBELLEDE (1) ~ (4) OFHLRUES,

[ZEARD J-Pop HETH 2,

1. FZHELN
2. IRid=E
3. tEHH
4. /18P

Question Number : 70 Question Id : 342123534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOO CARBREELHEDE (1)~ (4) DRHSEVHAL,
[ASL409] 1 [CENhZZ2ETHA,

1. B

2. Ay b=

3. Yyh-

4. NIV

Question Number : 70 Question Id : 342123534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXD [CASREEZREDE (1)~ (4) DHRNLFEVEL,

[Z5L597]1& CRDE=ZBTHD,

1. iR

2. Ny k=)
3, Yuh-

4. W99

Question Number : 71 Question Id : 342123535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CASREEELEDE (1)~ (4) OHRNoEVLRSE
AN
IFBRCEROREESNLLI =] CH3,

1. IR, KR, Rig
2. JIF, @R, RIG
3. JIF. KBk, %#B
4. ;IF. KR, #F

Question Number : 71 Question Id : 342123535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CAZBEELEEDE (1)~ (4) OFN6REVLS
s
TPERICBAORFEESNLE =B THb,

1. IR, KR, i
2. JIF. &, RIg
3. JIF. KBk, R#P
4. ;IF., KR, #F



Question Number : 72 Question Id : 342123536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RDXD CABRLESBE0E (1)~ (4) DFNLEVRIL,
| XE A FEDISILTHA,

1. ER
2. BAREE
3. 88H

===

4, FuoT

Question Number : 72 Question Id : 342123536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RDXD [CAZRLEEBEDE (1)~ (4) OFNLREVEEL,
| XEAEIR FHEDIZLTHA,

1. B
2. BREE
3. #AH

S

4, snTC

Question Number : 73 Question Id : 342123537 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOO CABREELBENE (1)~ (4) DHRHSEDEIL,
B TEINEEIRIL THd,

1| P

F8

TE

gy

- S e

Question Number : 73 Question Id : 342123537 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

KOO CARBREELLEDE (1)~ (4) DFRNEVESL,
B TE INEEIRIL TH5,
1. Il
=4
T
g

. L

Question Number : 74 Question Id : 342123538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CABBREELUREDE (1)~ (4)DFASEUEIL,
WA REEC  HECHBNTREBEITPYRBLE,

1. HLENS

2. HHANTH

3. HIEHENIE
4. HoEAEPLA

Question Number : 74 Question Id : 342123538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD [CABREBLUREDE (1)~ (4)DHAERUEIL,
FR4 BEEEC  HECHBENTREITPYBLE,

1. HLEHD

2. HHADTS

3. HIEEHNIE
4. HoEAFPLA

Question Number : 75 Question Id : 342123539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



KOO CAPBREEYREDE (1)~ (4) OHHEDEI,
[HSH>TRFHTLBIEYTT, JeWNIUIITENIC k%Y,

1. ARG b

2. 971

3, JAMA

4, TJHE

Question Number : 75 Question Id : 342123539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOXD CABREELREDE (1)~ (4) OFNEEVRIL,
[BHETRHTLBDIEYTT, JEWIEITERIC k%Y,

1. TARIh

2. 9T

3. TR

4. AJEE

Question Number : 76 Question Id : 342123540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RXDXD CARREBELEBEDE (1)~ (4) DFHIEEVHIL,
EARICRELHIETE, FPOR_-DIDF4E g

1. BOdaICZUEZ LGN

2. BiOTAICEYERLN

3. B LECTESHEN
4. BOLAWAEL

Question Number : 76 Question Id : 342123540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROIZD CAZREEULEDE (1)~ (4) DPHSRULIL,
EARICERDLHIFTE, FPOR-IDIHE g

1. B9 3ICILEZEFRN
2. RT3

3. AOLIKTHELEL

4, BOULAWARL

Question Number : 77 Question Id : 342123541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOO CARBEELREDE (1)~ (4) OPASRVEEL,
WoEWMERIE B EEMRELVSRITAN, KEFYEOEDT, D3
DEDHS N,

1. A=
2. ZB¥HE
3. ZBAF
4, BELEE

Question Number : 77 Question Id : 342123541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CABREELUBEDE (1)~ (4) OFNLREVHEEL,
WoWMERIE I EEGRELVSRITAN, KBEYEOEDT, W3
DEDH %L\,

1. ZEA
2. ZR¥KE
3. =BXTF
4, EELEE



Question Number : 78 Question Id : 342123542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD__ [CAZREBELHE0E (1)~(4) OHNEVEI,
DEL BN BB TERATHAZEN KT,

1. FhaEL
2. —RIEY
3. BHRS
4. TERD

Question Number : 78 Question Id : 342123542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD_ CARREBLELE0E (1)~(4) OPNEVEI,
pEGY AN d PRI EYTEZATHAL I]{j(t/-l]tp

1. FHaln

2, —RiRY

3. BIERS

4. BzRD

Question Number : 79 Question Id : 342123543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD_ [CAAREBELLE0E (1)~ (4) OBNSEVEIN,
EITTH., COEFIL, LS e U EDEDREDYEEA
4

1. LY, £

2 et

3. ToHn., tohn

4. b, 65



Question Number : 79 Question Id : 342123543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD L ARREELHBEOE (1)~ (4) OPHSEVEIL,
ESTTN., ZOEE, LS BiE N EOEDRBYEEA
i

1, LY, &Ly
2. [0 6000
3. THN, THN
4, %, Bold

Question Number : 80 Question Id : 342123544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RONO CABREELRE0E (1)~ (4) OHNEEVLIL,
HOBIIEEEEITAHEL, AFRLEST, 5

1. PAICHTLRL
2. PAICHILHEL
3. PUN%S

4. PYNREL

Question Number : 80 Question Id : 342123544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CABREEILEDE (1)~ (4) OFNSEVBIL,
HDBEEEERITBLHES, ARUIOT, o

1. PAICHEEL
2. PAICHTLEN
3. PUHI%S

4, PYNREL



Question Number : 81 Question Id : 342123545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD L ARREELHBEOE (1)~ (4) OPH5EVEIL,
HOANEDEER(FE1HLT sEenfk,

1. PP
2. IPTP
3. B
4. BHED

Question Number : 81 Question Id : 342123545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD_ CARREBLELE0E (1)~(4) OPNEVEI,
HOAEDEELFHLT LNk,

1. 0POP
2. IPIP
3. BYOY
4. BHED

Question Number : 82 Question Id : 342123546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RDXD CARREEYLEDE (1)~ (4) OFNEVEI,
TOEILMESENS KrANETY,

1. (&Y

2. By

3, ZolfY

4. 284

Question Number : 82 Question Id : 342123546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXO CARREESEE0E (1)~ (4) OPHLEULREL,
SEFLRNEENS BrANETT,

1. &Y
2. IBY
3. EolY
4, 8Y

Question Number : 83 Question Id : 342123547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRORBICHLSERBEVLEL,
ERXFOCNINER RERACALNLIE X FR TBERRONH EERX
FEBIFCELVREE ECBICBRTE L, XFMB OMIEAEBC E R,

1. [/NERhgE]
2. [3riREs]
3. [FROTH8)
4, [BHEE]

Question Number : 83 Question Id : 342123547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TROMALALSEREBEVLI,
ERXEOCHINERMERAICAGN U ER THERBOIH TEX
FEBIFCELWVRRIECECBICETEL, XFREOMELER T,

1. [/NEReE]
2. [3rikss]
3. [FR0T 8]
4, [B¥=EE]



Question Number : 84 Question Id : 342123548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOO CARBEELRENE (1)~ (4) OFNoEVEIN,
BEFN, BOBETU M- TEBEEE->TUABTIIVNKE, BHNOERZPGE
DAROBERY, BOBWEI I EEEELANICLTRNEWND, BFFERD
FEESTHBILRELT, ZBEENRY, ROKTICRLTED, BAICEELS
EANNBETRHLBRTEIEET . kW),

1. ThFHFiLI
2. [—=F%Am)
3. [T
4. [BHLE—]

Question Number : 84 Question Id : 342123548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOO CARBEESLENE (1)~ (4) OFRNSEVRI,
BFN BOBETU M- TEREE &> TUARTIIWNE, BN OERZPDGE
DAROBEITY., DBV EREELAANLCLTRNELN, BEFEEROD
FEESTFLILRELT ZBEENRY., ROKTICRLTES, BAICEELS

ENEETFH LB TEIEET A8
1. [hFhFL)
2. [—<H%Ef]
3, [Tl

4, [BHELE—]

Question Number : 85 Question Id : 342123549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXD CABREEABEDE (1)~ (4) OFNLREVRIL,

[F, BRI SOFHRNS MBIV AR TIRAING, BUKIRYH
DIZTHHLEE LN, KROKEL EMEBEAONTNG, HENXBTEI B
AERIE [EBYEICEET,

1. Wik
2. AE
3. T
4, REX

Question Number : 85 Question Id : 342123549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CABREEIZLE0ZE (1)~ (4) OFHoREVRIL,
. BRI SOFHRNS BV AR TIRAING, BUATRPH

DIZTHHLEEZON, KROKEL EHEBERALN TS, HEXBTEIH
FERRlE EBYEICRETS,

1. itk
2. AE
3. TR
4, REX

Question Number : 86 Question Id : 342123550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR0 NoDIRFTHB,

fEERSHE, [TAPRPHERH TN LBV, UL, FARBRAPATS, 1§
AEILEIE RIS TR, SAEARD, D, EADFRARSAIEE THB, &I
A1 ZOEADGI, M- ERFTIREE SN, BIICEB LI, HFREO
BTE ABY RS T RML TV, SIOT ADN KE, DDDNTWEEANS R H
INEOE. ERIOSHOLVSERRICENESE N, 0, ]

1. [ BEfiv

2. [77-0%]
3. [E#)

4, [BER]

Question Number : 86 Question Id : 342123550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEOX( DoDIEFTH,

fEERSHE, [TANRPHERH TV LBV, UL, TARBRAPATS, #
AEILEIERIATIRN, SEARD, Dk, EADFRARSAIEETHE, &2
A1 ZDEANGIE, - ERFICREHENL, BICEBWELIIC, SRR
BTE ABYRST ML TNV, SIOT A KE, DDDNTWEEANSRRE H
N0 RAZORMOEVSBRIEICENMESE N, 6 6 ]

1. [ Bl

2. [77-0%]
3. &)

4. [BEM]

Question Number : 87 Question Id : 342123551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TEOX NoDERTHA,

[EZTEINENEAL R BHOND, BATEZRVCHUALEEIAT -4
AWTWEBEREREL TS, BERIITIH TARLWIE0% Rz, LGS
ETRCCENRBEE LW ART—BEBLRIETHOIZI, IDELELNIOE
4 A ERIZTETRILVNIFETHS, LD LZOSREAENIBZZ TR
NORIEREALNEEB DL, RO ZELHEONTA- LIS LIFONI KA
7979 RUAS N THA,

1 [

2. [3I&1CT)

3. [BERIETHA]
4. [5+&]

Question Number : 87 Question Id : 342123551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEOX NoDERTHA,

[ETTEINEDEAL R EHOND, BATEERVUSHUHLIELIATIv-Zv-
AWTWERERERELTNS, BEEIITHH TAREWIE0ER T, LGS
CTECEENEEE LV AR T—HERBLRBIE THZIT, CNBELNIOG
4 H 4 ERERTETRILVIFETHA, LD LZDEREFEVNIZEZ BRI
NORIBEALVNEEBNBN O, EEROZICHEONTA-L 155 LITonf-HA
D I97ILERUH S 1IN THB,

1. [

2. [49IBICT)

3. [BERIETHA]
4. [8+%]



Question Number : 88 Question Id : 342123552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR0 L3R 8%

=MLY, LEFEEOBENREEROCLARGEE, FROICEEHEED
ThY, & TAIMEXENHERELTOL RSN, 2ARADIRRIC
T TRAON TN, #EEIFXT RIEIEDILNHIEES,

1. [Rt3E)
2. [REE4EE]
3. [H%E)
4. [BAER]

Question Number : 88 Question Id : 342123552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TROHAIC L3RI 53,

=ENLRY. LEEEEOBEDREEPOLCLLAREE. FRNICEEHEED
ThY, 1E THIMERENHEEREETOL LS, 2AKOIBI
T TRRBN TG, MEEIR XS RUEIEDI LN IES,

1. R3]
2. [REYE]
3. [
4. [BAER]

Question Number : 89 Question Id : 342123553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TaROFAICILAEME tH%,

HI BATLEEREH, ERABEICE IS, RECHL-RESEXRECRTH
FORVTNZVED,

1. [HEEE]

2. [H5E]

3. [#rrSMIE]
4. [BeTHE]

Question Number : 89 Question Id : 342123553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEROFRACHLAEMRE tH%,

B BIARGERSH, EEARMICE DX RECAL-BHEEEICERTH
FOEVTNZVED,

1. [HEE]

2. [H5&]

3. [HraSMAE]
4. [BEFE&]

Question Number : 90 Question Id : 342123554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



KOO CAZREEELEDE (1)~ (4) ORNSEVREL,

AATRHXZEARXFEOXZEDAFITZNEN ¢
Chd,

1. g, EXE
2. FAE, EXE
3. MIE. HLE
4. JIliHE, ¥

Question Number : 90 Question Id : 342123554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOO CARBREESREDE (1)~ (4) DRHSRUEEL,
AATRMXFEL ARNFONEEDLEITZNEN &
Th3,

1. JIGE, EXRE

2. NIE, EXE

3. MIE.FHLE

4. JIiZE, HLE

Question Number : 91 Question Id : 342123555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXO CABREBELULEENE (1)~ (4) DRAHSRVEEL,

JIiGERAE KTR =80/ -NIZREZSOFRDFMEZNEN
t '@@60

1. [BAE], [KEOZEEH]

2. [FPee), (R0

3. [ELLWBAORL, [HLENVER AR
4. [BER], [EEOEY)



Question Number : 91 Question Id : 342123555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXO CARBEESLEDE (1)~ (4) DRNSEULEL,
)RR AR =B /-NIVZRE L 20FB0T 1 MIEENEN
4 TH3,

1. [BAME] [KEOZEH)

2. [FP#e), (20

3. [RLLBEERORL] [HLEWVERRA AL
4. RG], [EEOBY)

Question Number : 92 Question Id : 342123556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CARBREELLENE (1)~ (4) DPHEVEIL,
¢ [Z{EVEEORFREGH] THA,

A TTEREE
B. (RS
C. RAY&E
D. KR

1. AB
2. B
3.8D
4, A C

Question Number : 92 Question Id : 342123556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RDXD CASREEABEDE (1)~ (4) DFHEVRS,

¢ EVHEORRNEHI THA.

A TTEDEE
B. (R
C. RAY&E
D. KM

1. A.B
2. B,C
3.8D
4, A C

Question Number : 93 Question Id : 342123557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CARBREELHREDE (1)~ (4) DRNSRUREL,
(FBEROTY-I1-THHBLEAIN-V3 ) THB,
1. QR J-F
2. ATM

3. IEFEE
4. Blue Tooth

Question Number : 93 Question Id : 342123557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



KOO CARREBESLEDE (1)~ (4) Ohh5RULE,
FREROTVY-I1-THFEBLET/N-Y30THB,
1. QR J-F
2. ATM

3. EHE
4. Blue Tooth

Question Number : 94 Question Id : 342123558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD__ CABREELLEE0ZE (1)~ (4) DPHLRUHEIL,

ERMDEIE, EORBLEEHATEE, M4 0EETEEDR
ehY, _  BERSEPHELRCEREANCONMPICEIELAED
TH3,

1. Hah. tHEEE
2. PREE. B
3. fHEE, T
4. k. Gan

Question Number : 94 Question Id : 342123558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RDXD [CAZREEELEDE (1)~ (4) DPNLEVRIL,

FRUEOEIE. EnORELLERAY S, 4 DEET ZHE0R
WehY, _ BREFHEPHELCERANCOMNPIKESIELLED
tha,

1. Hah, HEE
2. fiE, BE
3. fHEE, AN
4. . Ban

Question Number : 95 Question Id : 342123559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOO [CABBREBELLE0E (1)~ (4) DhhsEVLEIL,
R RN RHAHICAIT, . . O T

A4 ORICEZBROBBELOL,

1. ¥, B, EX
2. BB, kA, BE
3. |5, EE, ER

4. FHFE. BRE, BE

Question Number : 95 Question Id : 342123559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RONXD_ [CABREELLBEDE (1)~ (4) DPHoEVEIL,

PEARNSPHAHIANIT, . . LDF R
A4 ORICEEHOBEELDL,

1. Bl A& ET
2. T, A BiE
=

3- Eﬁfﬁ.'\ EEI 5 }E%

4. FHFRLF, BRY, BiE

Question Number : 96 Question Id : 342123560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CARREBLBEDE (1)~ (4) OBRNSEDEIL,
AAT( & FRFORHEZIONTIND,

1. 88, &

2. &8 &

3. 8. R
4. ISE, B

Question Number : 96 Question Id : 342123560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROZO CARREELBEDE (1)~ (4) DHRHSEDEIL,
AATIE s FRFORHEEEZZIONTNA,

1. B8, &

2. 8.8

3. 8B R
4. I3E B

Question Number : 97 Question Id : 342123561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXD___ [CABREELULEDE (1)~ (4) DFNLRVESL,

37 A BE -7 -LRE[CEIHT 3 v I T-BEDIRELTELED
ZETH,

1. JAX
2. JAk
3. JAEA
4. JA7V

Question Number : 97 Question Id : 342123561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD [CAZREELBEDE (1)~ (4) DFNEEVHESL,

37X B T-LBEICEIRT B vITI-REDIHEELTELD
ZETHB,

1. JAX
2. JAk
3. JAEA
4, AT

Question Number : 98 Question Id : 342123562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CARBEELULENE (1)~ (4) DHHSRULEL,
¥ FEROENEEZTH S,
1. Bb. &
2. Bb. HFEX
3. ¥, A

4. WE, HFEX



Question Number : 98 Question Id : 342123562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOO CARREBESLEDE (1)~ (4) OhhERULE,
¥ [FEADENEZTHA,
1. B, A
2. Bb, HEX
3. W, A
4. W, HEX

Question Number : 99 Question Id : 342123563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOO CARREBYBEDE (1)~ (4) OPNBETESL,

GHQ [ZAR70 20 & 10 A, BEREZEABEITILT, ¢ 0]
BREHELED ST,

=

. FER RELL
. FEF, AT
. RELEEL
. ol FREL

= W Mo

Question Number : 99 Question Id : 342123563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXO CABREELHEDE (1)~ (4) DHNBRUHBEL,

GHQ [3AR70 20 F 10 A, BREELARBISTLT, ¢ 0)
BUREIELEDIET,

[y

. kERL REL
. #EFL, 58T
. RE(L HEL
. o F BEL

= W M

Question Number : 100 Question Id : 342123564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CARBREELHEDE (1)~ (4) DPASRBULEL,
& [FERODELET_AEETHI,

=R, BB
=G, LREXR
=JHREKEB. FiKa
INRRIAH, AT

S

Question Number : 100 Question Id : 342123564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD___ CAZBREELLEEOZE(1)~ (4) OFN5RUEI,
¢ FEERDBELET-AEETHD,

=IER. B
2R, WREXR
=HREAEB. FiKia
INERIAH, WA

- G



Question Number : 101 Question Id : 342123565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

XOXD_ CAZREELULEDE (1)~(4) OhHSEVEI,
v FEARZIIHTIERTHA,

1. BEF%. St

2. REERNE., £HF7)
3. B, IRERH

4. Bk, REL

Question Number : 101 Question Id : 342123565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

XOXD__ [CAZBREELLEDE (1)~(4) OFNSEVEI,
¥ IEARECETAHZTHE,

1. BEFx. St

2. REERNE., £HF7)
3. EA, IRERH

4. HF1, HREIL

Question Number : 102 Question Id : 342123566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXOD____ CABREEZLE0E (1)~ (4) OFHEVBIL,
¢ BEAAD/-RIFHEREETHS,
1. RTR=EB, kR lF
2. %158, EHE—
3. FIRIIE, wlER
4. fEERAE, BILIEMR

Question Number : 102 Question Id : 342123566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CABREBELBEDE (1)~ (4) OFHSEVRIL,
¢ FEXAD/-NFNEREETHD,
1 RTR=EB, iR lF
2. )l 58, BHE—
3. FR)IE, mlEm
4. BRI, EILIER

Question Number : 103 Question Id : 342123567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD_ [CABBREELULEDE (1)~ (4) ORASEVEIN,
& ¥ [FEADBEOHITHS,

1. gL, REL, WE
2. B, BE, REE
3. 4\, Bk, WE
4. #. ES. Gl

Question Number : 103 Question Id : 342123567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXD__ CABREBLULEDE (1)~(4) OHHoREULRA,
' ¢ [FHEDBEOHITHS,

1. &L\, REL, WE
2. =R, BE, BRI
3. Al B3, WE
4. i, ER, AL

Question Number : 104 Question Id : 342123568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD_ [CABREELHEEDE (1)~(4) OPNoEVEIL,
AAEOATHETHE. [p)lE T [m)ld Tls)l&
_TH%,

1. BHE, BT EEE
2. 85, BRE. BUEE
3. WRE, ERE. RIS
4. [JUEE, BERE, AT

Question Number : 104 Question Id : 342123568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXO_ [CABBREELREDE (1)~(4) OPNLEVHIL,
AAREOREAETHE. [p)ld T, [m]ld Tls)lE
__TH5,

1. BHE AT EES
2. B85, BRE, ILEE
3. WRE, EBE. BiEs
4. [FUEE. WEE. AE



Question Number : 105 Question Id : 342123569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD_ CARBREELBEOE (1)~ (4) ORHSEVRI,
¥ [$TRTh I B8T 32 hETH 3,
1. RESFISECYER, — 225687
2. ROLCE=&, —5E5EHT
3. RO LICE=&, BEANSESS
4, BEBTHEEY, — L5288

Question Number : 105 Question Id : 342123569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD_ CAPREELRE0E (1)~ (4) OHISEUBIL,
¢ (3 FEZh[CBET AL hETH B,
1. REKFISEIC Y3, — 255t HT
2. ADLICE=F, —SE5EHT
3. RO LLCE=ZF, REARNSESLS
4, BEBTHEES. — 225587

Question Number : 106 Question Id : 342123570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXOD__ CAABREEYLEDE (1)~ (4) OFNSEUHIL,
IIXANVOFRTHZILTAN £t F(2, Z[E BAREES
s

1. 1271,1275

2. 1277,1281

3. 1268,1275
4. 1274,1281

Question Number : 106 Question Id : 342123570 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
OO CABREENREDE (1)~ (4) OFNSRVIEIL,
IVXANYOFRTHBHILIN Fe FIC, ZE B AEH
IZo

¥ 13711275

2. 1277,1281

3. 1268,1275
4, 1274,1281

Question Number : 107 Question Id : 342123571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD_ L AZREELEE0E (1)~ (4) ORHoREULAN,
HEBFRERTUSIFERE s LIS OAE BB (S
FBIEEEILLE,

1. R, FE
2. 754, hE
3. 1¥VA
4. A, HE

Question Number : 107 Question Id : 342123571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXD CARBREELLEEDE (1)~ (4) OPHSREUEIL,
HEBRERTUSIFEMRG s LIS OAE AN B AIC
FBRZEEEIELE,

1. KM, FE
2. #3745,
3. /¥R, FE
4. K, PHE

Question Number : 108 Question Id : 342123572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD CABREBULEDE (1)~ (4) OFHRUELIL,

RaBRO EBVAEAIO—ATHST XINADE-AIS RIC
_EERLUE, INBEROZERFORLEILLEZLNTNS,

1. %%, By
2. 5. 5%
3. X7 BIR
4, A, HiE

Question Number : 108 Question Id : 342123572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOO CABREBULEDE (1)~ (4) OFHSRUELAL,

RaBRO EBVAEAIO—ATHET AINADE-AIE R(C
_EHRLE, INEEFROZEHRZOELIVIEEZSNTNS,

1. #E)l, BX
2. 5. TR
3. X#. BIX
4, BH, HiE



Question Number : 109 Question Id : 342123573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

KOO CABBEELLEDE (1)~ (4) OPNHRBULAL,
EHNEINTIS Tl RE W3,

1. . iE

2. b T

3. . T
4. £, @

Question Number : 109 Question Id : 342123573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD_ CAZREBELLE0E (1)~(4) OPNSEVEI,
EHNEINTIS Tl RE W3,

1. . iE

2. b T

3. . T
4. £, @

Question Number : 110 Question Id : 342123574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

XOXD__ [CAZREELULEDE (1)~(4) OFNSEVEI,
&L, ¥ (3EFFTHA,

1. <5, L\hip3

2. <3, [InY

3. h'b, [EHY

4. &Y, \Whp3



Question Number : 110 Question Id : 342123574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ROXD__ CABREBLULEDE (1)~(4) OHHoREULRA,
EE, g [FEEFTHA,

1. H<%, \N3
2. $<5, [ENY
3. 15, [0

4. &Y, Whid3

Question Number : 111 Question Id : 342123575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W1 ICEE0%ERE nh5ED, ELWERE (1)~ (4) OFNSEUHEI,

o 5o
A. 12 B i. XA
B. 78 i, JKER
C. 6 A ii.  BE
D. 10 A iv. {REER

1. Aiiv B-i C-i D-iii
2. A-ii - Beiii C-iv D-i
3. Adii B-i  Cdi  D-iv
4. A-iv  B-ii Ciii DA

Question Number : 111 Question Id : 342123575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B CAE0EE 115EY, ELWVERE (1)~ (4) OFNSEUHEI,

o | o

A. 12 B i. XA
B. 7R i, kER
C. 6 A i,  BfE
D. 10 B v, fHER

1. Av  Bi G D-iii

2. Adi BAii C-iv D-i

3. Adii B C-i D-iv

4. A-iv  Beii  Ceii  D-i

Question Number : 112 Question Id : 342123576 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 [CEICO%EM 1 HoEY, ELVERE (1)~ (4) OFNHREUEIL,

o i
A, FSIE=EB i, b
B. KIER# i, 4SHP-EF
C. %% i.  PER
D. FKil5E v. X%
1. A B Ceili Deiv
2. Adv B G- D
3. Adv Beiii C-i D
4. A Bl Cii Dev

Question Number : 112 Question Id : 342123576 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0



1 CAEE0ERINSRY, ELWERE (1)~ (4) OFNGRUEIL,

o o
A, KIF2=BB T (42
B. KER# i.  4EFEP
C. &B% i.  PEP
D. FIFE v. X%

1. A B-ii CHii D-iv
2. A-iv B-ii  C-i D-iii
3. Aiiv BHiii C-i D-ii
4. A BAiii Cii D-iv

Question Number : 113 Question Id : 342123577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 CAEOERINSREY, ELWVEZE (1)~ (4) OFNoRULEIL,

i i T
A. FLET ] HAR
B. MLtk i BHRER
C. BBA i HERER
D. BHEX iv. UERER

1. Al B-iv C-iii  D-i
2. A B-iii C-i  D-iv
3. Adii B Civ D-i
4. A-iv. B-iii Cii DA

Question Number : 113 Question Id : 342123577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



1 (CEEOEMNDoREY, ELVERE (1)~ (4) OFNHRUEIL,

i o
A. FLE™ ] HAR
B. &Lk i HHRRER
C. EEA i HERER
D. BHEEX iv. UERER

1. A-ii B-iv C-iii  D-i
2. A B-iii C-i  D-iv
3. Adii  B-i  C-iv D-i
4. A-iv. B-iii Cii DA

Question Number : 114 Question Id : 342123578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W 1EAIE0ER 1 hoRET, ELVEZE (1)~ (4) OFH5EILE

L\
i /o
A, BREEK 5 LPER
B. IRk i ERTERA
C. FiE# i g 411
D. BEFE v, RERT

1. Aiv B-ii G D-iil
2. A-i B-i Ceiv D-iil
3. A B-iv Cdii  D-ii
4. Adi B Ciii D-iv

Question Number : 114 Question Id : 342123578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B OLCASE0EE 1 D5EY, ELVERE (1)~ (4) OPNoEUTEE
L\

i @&
A, RFBE ! LR
B. IR i EHE
C. R i Bkl
D. BEHE v. HREERM

1. Aiv B-i G D
2. A-i B-i Ceiv D-iil
3. A B-iv Cdii  D-ii
4. Adi B Ciii D-iv

Question Number : 115 Question Id : 342123579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W ICEIEOEM 11 hoEY, ELVEZZ (1)~ (4) OFNLBEUES
AN

o o
A, &n5 N 317
B. &31C i. ERAF
C. &b iii. — RER
D. #5 v. wmH

1. A B-ii  Ceiii D-iv
2. A-iv. B-i G-t D-iii
3. A Bl C-iv D-ii
4. Ai  BHiii C-i D-iv



Question Number : 115 Question Id : 342123579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B 1CEE0EM 1 N5EY ELWVERE (1)~ (4) OFNGREVEE
o

o o
A. &1'5 i, AR
B. 3L i  ERT
C. &b i. —REF
D. #5 v. WeF

1. A B-ii Ceiii D-iv
2. A-iv B-i  C-ii  D-iii
3. A BHii C-iv D-ii
4, A-i Beiii C-i D-iv

Question Number : 116 Question Id : 342123580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W 1 CEIE0EM 1HoRY, ELVEZE (1)~ (4) OFNRURE
AN

i W on
A, EHT i. BhEhE
B, & i. 2l
C. bLW iii.  {(RBIFE
D. ¢ iv. A

1. Asiv B-i  C-ii  D-iii
2. Aidi B-iv Cdii DA
3. A B-ii  Cdii D-iv
4. Ai  BHiii C-i D-iv



Question Number : 116 Question Id : 342123580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W OVCAE0EE 1 h5EY, ELWVEZE (1)~ (4) OPh5REURE
L%

i o
A, B5HT i, BhENA
B, € i. 2
C. LWL iii. {RBAE
D. 3¢ iv. i

1. A-iv  B-i  C-ii  D-iii
2. Aii B-iv Cdii DA
3. A B-ii  C-iii  D-iv
4, A-i - Beiii C-i D-iv

Question Number : 117 Question Id : 342123581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B 1CEE0EM 1 N5EY ELWERE (1)~ (4) OFNGREVEE
o

i i
A, BREEPESANGEBHELLELTNS, |i. LFABHEH
B. RRRTHELFICHALBFEABEYT |0 LFHIE
Eak;
C. KEBFEFRMKIOEDT, 2RERAL, i 5| FAE
D. ZREL BRI, iv. BlFER

1. Adi B-iii G D-iv
2. Aii B-ii Civ DA
3. A-iii B-i  Ciiv D-ii
4, A B-i  Ciii D-iv

Question Number : 117 Question Id : 342123581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W 1CASE0ER 1hoRY ELVERE (1)~ (4) OHNORUES
o

i i
A, BREEPESANGEBHELLELTNS, |i. LFABHEH
B. RRRTHELFICHALBFEABEYT |0 LFHIE
Eak;
C. KEBFEFRMKIOEDT, 2RERAL, i 5| FAE
D. ZREL BRI, iv. BlFER

1. Adi B-iii G D-iv
2. Aii B-ii Civ DA
3. A-iii B-i  Ciiv D-ii
4, A B-i  Ciii D-iv

Question Number : 118 Question Id : 342123582 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

1 CAE0EH 116RF, ELWVERE (1)~ (4) OFhoRUHLE
A
i o
A, NRNAE i, DEXO%VERIE]
B. 2REA i [HREK]
C. HLEH i. [RBEOM YA
D. EW#F iv. [1084]
1. Adi B Civ D
2. Adii Bv G D-ii
3. A4 Bl Gl D-iv
4, Adi Bl Ci D-iv

Question Number : 118 Question Id : 342123582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B I CEIE0ER 11h6=ED, ELWVERE (1) ) DHEHSEVHS
AN
o o
A NRNE i, DEXO%\VRIEE]
B. ERE i, TR
C. #L&H ii. [EBEObY MDA
D. ENEF iv. [1084]

Adi B-i  Civ D-ii
A-ii  B-iv Ci  D-ii
A-i B-i  C-iii D-iv
Adi BHii C4 D-iv



Question Number : 119 Question Id : 342123583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W 1CEIE0EM 1 h5RY, ELLVEZE (1) ~ (4) OFNLRDAES
Lo

o1 Mo
A. FBER . A
B. BEI®R \EEXE |i. HEZNE
C. MBI iil. HBH
D. W& v. XEREAR

1. A B-ii CHii D-iv
2. A-iv B-i  CHii  D-ii
3. A-ii BHii Ceii D-iv
4. A-iv B-iii C-i  D-ii

Question Number : 119 Question Id : 342123583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W 1ICEIE0EM 1 hoRY, ELLVEZZE (1) ~ (4) OFNLBUAES
L\

o o
A, HRER =]
B. BEE® \EXE |i. HEINE
C. MBI iil. #BH
D. kit v, XERA

1. A B-ii  Ciii D-iv
2. A-iv B-i  CHii  D-ii
3. A-ii B-iii Ceii D-iv
4. A-iv B-iii C-i D-ii



Question Number : 120 Question Id : 342123584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B OCET0EM 1HSRET, ELWVEZE (1)~ (4) OhhoEURE
L

i i
A, BOMEF —RRE0PE, TFILEASLE | G5HRE
CLTDEEEE R [CRABMEOOVTORSPEST

KX E0EF
B. #HO#ENIE, MPORLLNERADE |i. SEYE
gEREN

C. X= BB -A#IChlY, 1000 REOFHFEEL= |ii. HLEF
T—&[L B, Faae LTRADHREERD
D. HEBAKXAOKEE, BETHEINEREE |v. FRE
WERRE YD, RIFE,

1. A B-ii  C-iii D-iv
2. A-ii B-iii Ciiv D-i
3. Aiv BHi CHii DA
4. A-iii - B-i Cdi D-iv

Question Number : 120 Question Id : 342123584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



W 1 CRITOEM (I NoRU ELLVERE (1)~ (4) OFNLRVES
W

i i
A, BOMERF —FR20PE, EFICEXSZE |i &5HHRE
ELTOEEES RIRABYZEIODVTORESPAR

SEREDE S5
B. MHOMENIE, MPORLLNERNOF |i. $EYE
EERE

C. X=-EB-KHICHEY, 1000 REOHRFEL= |ii. HETF
T B, FEE L TRROAEERD
D. HEBAKAOKEEZ, BEHRINEREE |v. FRE
mERRE 95, RIFE,

1. Al B-ii  Ciii  D-iv
2. Al B-iii C-iv D-i
3. Aiiv B-ii  CHii D-i
4. A-iii - B CHi D-iv

Question Number : 121 Question Id : 342123585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



W O1CAEE0ER 1 H5RY, ELWERE (1)~ (4) ORH5EUES

AN

Question Number : 121 Question Id : 342123585 Question Type : MCQ Option Shuffling : No

o "o

A, HBE-TEXOMAR |i. HRE-A

B. mERBARIADF MG |i ZE)IME

C. IFAHOMEA BIR iii. MNP AEEFT
D. BEADRRIMER iv. SHER

1. Av Biiii Cii DA

2. Adi B-iv G D-ii

3. Adii B-i  Civ D-i

4. A Beii Ci D-iv

Correct Marks : 2 Wrong Marks : 0

W1 CAE0ER nhoRY, ELWVERE (1)~ (4) OFN6EUHES

A

Question Number : 122 Question Id : 342123586 Question Type : MCQ Option Shuffling : No

i "o

A, FRBIE-TEXOMAR |i TRE—A

B. TEBRIADF MG |i ZIME

C. IFEHBOEA BIR iii. AP AR
D. BEADKEIER iv. SHEN

1. Aiv Beiii Cii D

2. Ai B-iv Ci  D-ii

3. Adiii B-i C-iv D-i

4, A Beii C-i  D-iv

Correct Marks : 2 Wrong Marks : 0




W 1ICAE0ER 1hoRBU, ELWVEZE (1)~ (4) OFNoEVES
L

1 W
|
A. BBRIEM i, RBOPIRYEEL, #BEILEIEE IO
B. IBBIER i. BLCBEBLLEERTZE
C. E-_fm— i. [$2ZYLBEWT, BAPYLTNAERF
D. ZMalE iv. HEIFEEZTIC, BA|ICIEEEN

1. Adi B-iv CHiii  D-i
2. A-iii B-i  C-iv D-ii
3. Aiiv B-ii  C-i  D-iii
4. A-i  B-iii  C-ii  D-iv

Question Number : 122 Question Id : 342123586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1AL nhoRY, ELWVERE (1)~ (4) OFNoEVES
L;

1 o
|
A. BEERIEH i REPRVEEL, BEILEIEE NI
B. BiEEH i. BLBLALLKERSL
C. ¥E_fm— i. [E2FYLAEWT, BAPYLTWNAERF
D. &M=l iv. HEIZEEZTIC, BF|ICEEEN

1. A-ii B-iv C-iii  D-i
2. A-iii B-i C-iv D-ii
3. Aiv B-i  C-i  D-iil
4, A-i  B-iii G-l D-iv

Question Number : 123 Question Id : 342123587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



W 1CAE0ER 118U, ELWVEZRE (1)~ (4) OFNoEVES
L

i i
I
A. BREENT BRIOREINS i. FHEACEZ
B. £EALTVNARPT, FNDILET |i. FHEND
BRBHEL
C. —20AFMED-T, |RICES ii. FHEC
D. ZZONARVDAEPFEEAAS |iv. FERCT

1. A-i B-i  C-iv D-iii
2. A-ii B-ii G D-iv
3. Aiv. B-ii Ci D
4. A B-ii  CHii D-iv

Question Number : 123 Question Id : 342123587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B 1CAE0ER 118U, ELWVEZE (1)~ (4) OFNoEVLS
L

i i
I
A. BREENT BRIOREINS i. FHEACEZ
B. £EALTVNARPT, FNDILET |i. FHEND
BRBHEL
C. —20AFMED-T, |RICES ii. FHEC
D. ZZONARVDAEPFEEAAS |iv. FERCT

1. A-i B-i  C-iv D-iii
2. A-ii B-ii G D-iv
3. Aiv. B-ii Ci D
4. A B-ii  CHii D-iv



Question Number : 124 Question Id : 342123588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W1 CEIC0ER 115N, ELVERE (1)~ (4) OFNSEUES
N

W o

A, BEhoF . Z0RY

B. BET i. MWTES

C. AlE% iii. #R%293

D, hELE v, HICEEEDS

1. Adv Beii C-i  D-i

2. Adi Biv Ci  D-ii

3. Adii B Cdv  D-il

4, A B-v Ci  D-ii

Question Number : 124 Question Id : 342123588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W 1CET0ERM 1H5ET, ELVEZZE (1)~ (4) ORNoEURE

A
W o
A. BIhoF . Z0RY
B. BET i. AMVTE?
C. At% iii. EA%$92
D, ELE v, HICkEEN2
1. Adv Bdii Ci D-i
2. Adi B-v C-i D
3. Adi B C-iv DAl
4, A B-iv Cii  D-ii

Question Number : 125 Question Id : 342123589 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
8 CHBZBRICEIFTEEM 1 HoBEU, FELWIERE (L)~ (4) O
D ORI,

1 i
|
A, T2 i BT
B. BAF i. FBCE
C. &% iii. 225
D. E%® iv. BRIES
1. Adii B-iv C-iii D-i
2. Adii Bdv Cii D
3. Av B Ci  D-iil
4, A-i B-i  Ceiii  D-iv

Question Number : 125 Question Id : 342123589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I CHEIERICEIFEER I DoEY, HELWERE (1)~ (4) O
s BUGS,

i i
|
A, &F%¥ i, BT
B. BRF i. FBCE
C. &% iii. 325
D, E¥ iv. BERIEE
1. Adii B-iv Ceiii D-i
2. Adii B-iv Cii  D-i
3. Av B CAi  D-iii
4, A-i B-i  Ceiii  D-iv

Question Number : 126 Question Id : 342123590 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
TROFEFRTENMTONZELVEEZ (1)~ (4) OFHIOREVEIL,
A. I FOEIA]
B. b&
CEHAE
D. XigH

1. A—B—=C—D
Z. DA LA
3. A—C—B—D
4, D—C—A—B

Question Number : 126 Question Id : 342123590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TROEFTEMTONZELVEE (1)~ (4) OFNSRUBI,
A SR OETE
B. b&
C. A=
D. XigH

1. A—»B—=C—D
2. D—B—C—A
3. A—C—B—D
4. D—C—A—B

Question Number : 127 Question Id : 342123591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S 6 FRRFETHS, $M 7 F-8 F-9 F-10 FO+DELWEZ (1)
~(4) D FHLEVHIL,

A B
B. E
C. x
D. F

1. A—~B—=C—D
2, D—B—C—A
3. B=D=C—A
4, D—C—A—B

Question Number : 127 Question Id : 342123591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 6 FERFTHE, M7 F-8 F+9 F-10 FO+XOELWEZ (1)
~(4) D FHOBEVHEL,

A B
B. B
C. ®
D. F

1. A—B—*C—D
2, D—B—C—A
3. B=D=C—A
4, D—C—A—B

Question Number : 128 Question Id : 342123592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TROEREERINCIBICEA, ELWEZ (1)~ (4) OFHEVES
AN

A WAWE
B. FE—R%
C. /NFHEE
D. BRER

1. A—B—C—D
2. D—B—A—C
3. A—C—B—D
4, D—A—C—B

Question Number : 128 Question Id : 342123592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TROEREERESNCIBICEA, ELWEZ (1)~ (4) OFHEVES
L\

A WAYE
B. F&—R%
C. /NiFi#gE
D. BARER

1. A—2B—C—D
2; D—=B—A—C
3. A—2C—B—D
4. D—A—CB

Question Number : 129 Question Id : 342123593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXD ICAB ABC'D DEENELIEZ(1)~ (4 DHNHEVHES

Wo

REORREATICTEX, DU
BINEWVEETT,

A. RS [CRYIBEORMFBON
B. FAIC

C EHLERCHYTES

D. RINETN3B

1. A—B—=C—=D
2. D=E0A
3. A C2B~D
4, C—=B—A—D

Question Number : 129 Question Id : 342123593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXD ICAB ABC'D DEENELIEZ(1)~ (4 DHNHEVHES

Wo

REORREATICTEX, DU
BINEWVEETT,

A. RS [CRYIBEORMFBON
B. FAIC

C EHLERCHYTES

D. RINETN3B

1. A—B—=C—=D
2. D=E0A
3. A C2B~D
4, C—=B—A—D

Question Number : 130 Question Id : 342123594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXD [CABAB-C:D DEENELWVER(1)~ (4)DPNoEIEE
A

ORI 4 BERIBINTNAN, BIRER-T:
_ HEHEWSLWY,

A I

B. (¥

G T

D. #ZOHICDI3

1. A—C—D—B
2. D=B=C=A
3. A=C—=B8—D
4. D—C—A—B

Question Number : 130 Question Id : 342123594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ROXD [CABAB-C:D DEENELWVER(1)~ (4)DPNoEIEE
A

ORI 4 BERIBINTNAN, BIRER-T:
_ HEHEWSLWY,

A I

B. (¥

G T

D. #ZOHICDI3

1. A—C—D—B
2. D=B=C=A
3. A=C—=B8—D
4. D—C—A—B

Question Number : 131 Question Id : 342123595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BASAELREARENOELVERIEE (1)~ (4) OFHLRVEIL,
A BV ATFENRK
B. R—YVAZEH
C. BAXMERH
D. T ANEEN

1. A—B—C—D
2. E=2D—B—A
3. A—~C—B—D
4. D—C—A—B



Question Number : 131 Question Id : 342123595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BANABEEBALENOELVERIEE (1)~ (4) OFHRVEEL,

A HVI5VYATFMER
B. R—YVAZEH

C. B

D. RELANEZRK

1. A—B—C—D
2. C=2D—B—A
3. A—~C—B—D
4, D—C—A—B

Question Number : 132 Question Id : 342123596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TROBROELVERIEE (1)~ (4) OPNSRULI,
R Bl

=J|

)
.

O 0 ® >

= Bt

=

I i - e B B
2. D—B—C—A
3. A—>C—=B—D
4, D—C—A—B

Question Number : 132 Question Id : 342123596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TROBROELWVERIEEZ (1)~ (4) OFRNGRUBI,
Z kil

- R

i
5

O 0 ® »

=

&

. A—B—C—D
D—B—C—A
A—C—B—D

>owoN e

Question Number : 133 Question Id : 342123597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Bk REBARICEFEOELWVEZ (1)~ (4) OHHEEVLEIL,
EEN

HEEA

1& 1L —BR

. 5%

o 0 = »

1. A—=B—=C—D
2. D=B202A
3. A—~L—~B—D
4. D—C—A—B

Question Number : 133 Question Id : 342123597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i BEBAECEEEQELVEEZ (1)~ (4) OFHISRURIL,
EEN

B A

1& 1L —ER

. B %

o 0 = »

1. A—BE—=C—D
2., DB R
3. A—~C~B—D
4. D—C—A—B

Question Number : 134 Question Id : 342123598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

PFHAGECRYILD&IICTEDEFELVEZLIN, ELLEZ (1)~(4) O
P DEVBEL,

A fE
B. 1

1. A—B—C—D
2. D—=B—=(—A

Lad

. A—C—B—D

Question Number : 134 Question Id : 342123598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



PFAGECRRYILDLIICTEDEFELVERLIN, ELLEZ (1)~ (4) O
PABEVHBI,

A f&
B.

1. A—B—C—D
2. D—B—(A

Lad

. A—=C—B—D

Question Number : 135 Question Id : 342123599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TROLEOBAMERLEELVERIEE (1)~ (4)0PNSRUBEL,

A.

Ei)

1.

o O W
M B A S0
it 3 B

1. A—B—C—D
2. D—E—C—A
3. A—C—B—D
4, D—C—A—B

Question Number : 135 Question Id : 342123599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TROLKOBRENEELEELVERIEE (1)~ (4)0RDSRUBEL,

o O W
o B Ak 3
Mt 3 & [

1. A—B—C—D
2. D—B—(—A
3. A—~C—B—D
4, D—C—A—B

Question Number : 136 Question Id : 342123600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEOBED)ZZORICEHT, —BERVEON B VWEDADIEICEAEDE
(1)~ (4) ) OPHHREVEEL,

A KB
B. FIJR)I|
C. BRI

D. Ei&/l

1, A~*B=C~D
2. D—=B—C—A
3. A—2C—B—D
4. D—C—A—B

Question Number : 136 Question Id : 342123600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TZOBRDNEZORECEHT. —EREVEONSEVEDADIEICEATED%
(1)~ (4) ) OFNLRVBAL,

A. K51
B. R
C. BRI

D. &=/l

1, Bl
2. D=B—~C—A
3. A—C—B—D
4. D—C—A—B

Question Number : 137 Question Id : 342123601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEROEIFENERLLELLVERIEZ (1)~ (4) OFHLREVLIL,

A. &)1

i

—,
c:

S} ook

(]
S
=

B.

-
5
=

1. A—B—C—D
2. D—B—~L—A
3. A—=C—B—D
4, D—C—A—B

Question Number : 137 Question Id : 342123601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TROBIFENERLULELLVERIEZ (1)~ (4) OFHLRVLRIL,

1. A—=B—C—D
2. D—b—L—A
3. A—C—=B—D
4, D—C—A—B

Question Number : 138 Question Id : 342123602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TROBAOXRLEULIBEICEUER. ELWEE (1)~ (4) OBHSEY
BEW,

A BRXE
B. ELXE
C. MERE
D. REXE

1. A=B—=C—D
2. D—B—L—A
3. B—=C—D—A
4. D—C—A—B

Question Number : 138 Question Id : 342123602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TROBAROKEXELEIBICEVER, ELWEE (1)~ (4) OHHED
e AN

A BRXE
B. HERE
C. IMERE
D. REXE

1. A= C—D
2. D—B—(—A
3. B—=C—D—A
4. D—C—A—B

Question Number : 139 Question Id : 342123603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEOIFOBBRNMERLEERIRCLEVER, ELWVERZ(1)~ (4) HoED
v AR

A REEE

B. ML

C. A&
D. KEER

1. B~CA0
2; D—=B—C—A
3. A=C—B—D
4. D=C—A—8

Question Number : 139 Question Id : 342123603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TROIFOBERNERUERBICLVZER, ELVERE(1)~ (4) HoEV
VIR

A REiEE
B. #AELL

C. AR
D. ARER

1. B—~C—A—D
2;: D—=B—CA
3. A—C—=B—D
4, D—C—A—B

Question Number : 140 Question Id : 342123604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEROEAVIMICEEILICEAZEZ, ELVIEE (1)~ (4) OFHoED
VI AN

A BhICdHoRE

B. T4CEMIZELIN
C. HABVEO0

D. ARNIL

1. A—B—C—D
2. BB
3. A=C—B—D
4. D—C—A—B

Question Number : 140 Question Id : 342123604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TROZFANMFIMCABEICEAZEZ, ELWIEE (1)~ (4) OFHsED
iAW

A RICkHoRE

B. T4[CEMIZELIN
C. HABVEO0

D. ARNIL

1. A~B—C—D
2. D—B—C—A
3. A—C—B—D
4, D—~C—A—B

Sub-Section Number : 2
Sub-Section Id : 34212323
Question Shuffling Allowed : No

Question Id : 342123605 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



PASSAGE
ROXEGTATEROARICETLI,
RCABEFRTE, HEBHENFUEBRIPH TS, ERENEECREEAANELEVNFHRESHHALEEDR
BERLT R4 Py TCR0EERTRBECRD TUVE, RATBVAETATRIEEED, LRENSRESIEZOL,
FELEONGCTE, REENSRDRIOL, RBBRORBLROL,
[HRIHRORIEE] (KRB OOFRE]
EE&*'JEE%&DT;K’FU?J‘EMT“L\& KR RRETEFELNF T, BHLRBL BEER>TEH TV, BEL(TI0REK

EWE

BEOREE, 20BEESN TR HELBLTESE I T 20 BIELBBEREILTELN, #E—RTIOEEDEHE
5Eor,

whipd

BRIEFAB7INOVNTFE T, FROUNSHRERILETT, KADGHIOESHENEIELR RESH -, REOE AN
BAZZALD, EWIBEIVOLIRTTIHEREN, BHEFRHTVELSICES, BESELN HTVAE ATIDRNER
RlEok,
[heERERON LRGN VATT ! |
FEGEERBERELLIL LTV, ZNRAELRBEVE, EOMENRNEORE RRE B CREEMVTVANSEL, &
BAERTRBLTVENSE, D NFEROVOUE B> TWT, EEMBRELEVDS, ZHFEZ0ELUARDIEFT,
ERETNERRALVIOBE, EOLTHELNMEOLEAD, ERZOBRBORBELFHICRE, WOEHBEBISRNENF
HREERCLIEAZRICBRLTVWA0TREWD hIBEEALERISEVEDNHS. ( ) BEEHBORBTELHFAT
WAL, ABIRH A TIRELLBNEST,
FAOZELH L, ZCTRBVIEIRATIMNIZERICOES, RITOELAERBIHEVEONH S, EEIATEREL, MISHN
HRERELL,

(%)
ANSHENEIVEOOHER | FH 3, FTLLWRIE, HLLBUA, HLWE S, EEFEROPIILEMREIRAT, TiLE

535 Hhlt

2H, ZLTCOFREMELENZI LA B # H TS, ZABRERTRAECRELELEELLLTCNB0N, HELO
oo

545 it &t

GREEBHETRARG HMFVREZRTT SMHERCHLTLOAOMTHY, BRETNIHISENLERETHE,
[EoRELHEET 2RI HE, TRICZEOHREHZZ0BELHLHER N ELALL
EWIKRANVENDREEZTHB,
(Gt EX—TPEBRERYMRMLIANIEEICES)
BIEL  TAREILERITLEN
B BTRCRECENTET 2H%T
BROENRES | Z2LOAOFHSESEEN S,
BR RRAELD
BE HCERESAVLTOECELRERL
HAFEL @ F5LIKW
B EFNERDSEH-TVANE

Sub questions

Question Number : 141 Question Id : 342123606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[FEBMEVSFRRBILHN, ELTHRLRON,

1. WOBRRIBEEICCAEVNFREEHNRELE TIHFERAETONS
2. KEZRHIEFHROIEDEDNSFEYENCEREYTENE
3. RAENMEBLEAZZROREECHRIRINELZSZNNG
4, FHRIIFEZARYICE S ICEBICAZTIBLOE TIN5

Question Number : 142 Question Id : 342123607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2L,

1. B BEECWIANBEC, FREBICERCEORFmEELLTEL

2. ENERTCADEN TN BEV/DLIRITTI%ETFLEEESIC
W RIHAL

3. FAEOFEEEABICHVTRTEEbALMEBLTNANG, EEOREEN
Zt

4, FEFONSRENNGIL L TER RS, O FRELCE LA ER
&I ¢TBL

Question Number : 143 Question Id : 342123608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(ICARREBEHESEREND,
1. LG
2: BRI
- 0 el
4. DFY

Question Number : 144 Question Id : 342123609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Hra CIRITHMU TS RIS,

1. FLLWREBZLTWAWAEF N EoNETE
2. BEEFENSHNTOOTBIELNTERIL
3. LokZEABNEIAICERBICITLIENTESRIE
4. WDOTEEITEELATWIENELHBIL

Question Number : 145 Question Id : 342123610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AXDOARICH>TVRDEFEND,
a3, FHRICEXREHRSILTHS,

1. &

2. AR FHROKNMSOEENZEIZEDTHS,
3. i3 MEDEREOLHICTEZED THS,

4, HE Eﬁﬂ*bﬁ?éﬁﬁi’é%b@ﬁﬂ}t@éo

Question Id : 342123605 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



PASSAGE
ROXEGTATEROARICETLI,
RCABEFRTE, HEBHENFUEBRIPH TS, ERENEECREEAANELEVNFHRESHHALEEDR
BERLT R4 Py TCR0EERTRBECRD TUVE, RATBVAETATRIEEED, LRENSRESIEZOL,
FELEONGCTE, REENSRDRIOL, RBBRORBLROL,
[HRIHRORIEE] (KRB OOFRE]
EE&*'JEE%&DT;K’FU?J‘EMT“L\& KR RRETEFELNF T, BHLRBL BEER>TEH TV, BEL(TI0REK

EWE

BEOREE, 20BEESN TR HELBLTESE I T 20 BIELBBEREILTELN, #E—RTIOEEDEHE
5Eor,

whipd

BRIEFAB7INOVNTFE T, FROUNSHRERILETT, KADGHIOESHENEIELR RESH -, REOE AN
BAZZALD, EWIBEIVOLIRTTIHEREN, BHEFRHTVELSICES, BESELN HTVAE ATIDRNER
RlEok,
[heERERON LRGN VATT ! |
FEGEERBERELLIL LTV, ZNRAELRBEVE, EOMENRNEORE RRE B CREEMVTVANSEL, &
BAERTRBLTVENSE, D NFEROVOUE B> TWT, EEMBRELEVDS, ZHFEZ0ELUARDIEFT,
ERETNERRALVIOBE, EOLTHELNMEOLEAD, ERZOBRBORBELFHICRE, WOEHBEBISRNENF
HREERCLIEAZRICBRLTVWA0TREWD hIBEEALERISEVEDNHS. ( ) BEEHBORBTELHFAT
WAL, ABIRH A TIRELLBNEST,
FAOZELH L, ZCTRBVIEIRATIMNIZERICOES, RITOELAERBIHEVEONH S, EEIATEREL, MISHN
HRERELL,

(%)
ANSHENEIVEOOHER | FH 3, FTLLWRIE, HLLBUA, HLWE S, EEFEROPIILEMREIRAT, TiLE

535 Hhlt

2H, ZLTCOFREMELENZI LA B # H TS, ZABRERTRAECRELELEELLLTCNB0N, HELO
oo

545 it &t

GREEBHETRARG HMFVREZRTT SMHERCHLTLOAOMTHY, BRETNIHISENLERETHE,
[EoRELHEET 2RI HE, TRICZEOHREHZZ0BELHLHER N ELALL
EWIKRANVENDREEZTHB,
(Gt EX—TPEBRERYMRMLIANIEEICES)
BIEL  TAREILERITLEN
B BTRCRECENTET 2H%T
BROENRES | Z2LOAOFHSESEEN S,
BR RRAELD
BE HCERESAVLTOECELRERL
HAFEL @ F5LIKW
B EFNERDSEH-TVANE

Sub questions

Question Number : 141 Question Id : 342123606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[FEBMEVSFRRBILHN, ELTHRLRON,

1. WOBRRIBEEICCAEVNFREEHNRELE TIHFERAETONS
2. KEZRHIEFHROIEDEDNSFEYENCEREYTENE
3. RAENMEBLEAZZROREECHRIRINELZSZNNG
4, FHRIIFEZARYICE S ICEBICAZTIBLOE TIN5

Question Number : 142 Question Id : 342123607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2L,

1. B BEECWIANBEC, FREBICERCEORFmEELLTEL

2. ENERTCADEN TN BEV/DLIRITTI%ETFLEEESIC
W RIHAL

3. FAEOFEEEABICHVTRTEEbALMEBLTNANG, EEOREEN
Zt

4, FEFONSRENNGIL L TER RS, O FRELCE LA ER
&I ¢TBL

Question Number : 143 Question Id : 342123608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(ICARREBEHESEREND,
1. LG
2: BRI
- 0 el
4. DFY

Question Number : 144 Question Id : 342123609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B LATALITNB A TN

1. FLLWREBZLTWAWAEF N EoNETE
2. BEEFENSHNTOOTBIELNTERIL
3. LokZEABNEIAICERBICITLIENTESRIE
4. WDOTEEITEELATWIENELHBIL

Question Number : 145 Question Id : 342123610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AXDARICH>TVBD[EEND,

1. tad, FHRICEREZHZSIETHD,

2. REL FHOBISOBENFZETEZEDTHS,

3. mEld. WEDERBRDLHICTEED THD,

4, FE Eﬁﬂ*bﬁé@ﬁ&%b&%@t&:éa
Sub-Section Number : 3
Sub-Section Id : 34212324
Question Shuffling Allowed : No

Question Id : 342123611 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



PASSAGE

RS RZRR, TADRE L, TERTV-0-THokt, T-ATEAEEORMBYAL, 208 T, AL TREX
EREOR, < () >LWIckEatk, CABKIBLCTE, FORNEBIRY IR EL TUTE, BorRF 87T, BF4
LBAERRAU, CHEBEAZL TR,

38, EKBEEORCENR, VAN UM SERYBHD, MERIUE, DL RUMRAT, H8RFLES
Bl IR ZAT-MO AT,
AT HF0CIALRE,
BE-HONTUL)
ok, () 15 HOBEI IO TRY,
[BOE0E, BENEDEND 72), BENSEDLEIEA Y, REFRINGATEION, BHEOE, BFOEIL
(O
LMY, Bl
=L T BFCEFELEL 30, BHOBR, \orFR, BE0EMSENT, FEFFIEL T, 541, ot
W FOEDE, T-AERTERAR, £)—8, BEOLIANTIT, UDORET, [BHTL I TEH T, HTERD
5, £IRBAOHEXAL, T-ABM, PHTLEA)
AR, BE-FOZILUILE,

(BXB[EHO0PERHILL)

B 133 BUMBLEPEREOEDRELTLOE B RS
B8 BENCAUREONER TSR, BEAGIRNEEDRL)
—0T: f-2F MARCBOAL)HLENTVAL

Sub questions

Question Number : 146 Question Id : 342123612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



( NEAZEREEYLEDEIEND,
J-FOFERICTED
LEREAEL
EHEHITS

. BlT%3EH5

B

Question Number : 147 Question Id : 342123613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(JCAZTREEHEBEDZEND,
1. 95¢&
2. Ll
3. ZLT
4, 5[

Question Number : 148 Question Id : 342123614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[ WEARFLIEFEIEHHN EEREDLSTEFLEZON,

1. HFEEXTUIEAALGHEFELL,
2. BFOBEELPALRIIEFELL
3. HFEFZLME->TUEFLL,

4. BLLVOTHRFZICHLATEFZLL,

Question Number : 149 Question Id : 342123615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

J-FHEEQELR-OEEEN, ZAONABHLLTHREELLEOEREND,
1. BENB SN EIFOFBFEMIENBVELREELEDS
2. BERHAOECELLTTZAI-MEHTERDS
3. EEHNNEADTICFLTETEVIETEFELENS
4, BENYYFRAYMEZDEEH> TV DL RIENS



Question Number : 150 Question Id : 342123616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[ BAEI-FOESEHBYLLEIEH BN, FAZELEEEZLNS,

1. BAPSBLNSETELEEI-FICEWVELSR,
2. BFEOQEIAICV>TEKETEHFEER

3. ROBMSTZADASICHZ2DZPHT

4. LIEo<HELEFLBRVLICLE,

Question Id : 342123611 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



PASSAGE

RS RZRR, TADRE L, TERTV-0-THokt, T-ATEAEEORMBYAL, 208 T, AL TREX
EREOR, < () >LWIckEatk, CABKIBLCTE, FORNEBIRY IR EL TUTE, BorRF 87T, BF4
LBAERRAU, CHEBEAZL TR,

38, EKBEEORCENR, VAN UM SERYBHD, MERIUE, DL RUMRAT, H8RFLES
Bl IR ZAT-MO AT,
AT HF0CIALRE,
BE-HONTUL)
ok, () 15 HOBEI IO TRY,
[BOE0E, BENEDEND 72), BENSEDLEIEA Y, REFRINGATEION, BHEOE, BFOEIL
(O
LMY, Bl
=L T BFCEFELEL 30, BHOBR, \orFR, BE0EMSENT, FEFFIEL T, 541, ot
W FOEDE, T-AERTERAR, £)—8, BEOLIANTIT, UDORET, [BHTL I TEH T, HTERD
5, £IRBAOHEXAL, T-ABM, PHTLEA)
AR, BE-FOZILUILE,

(BXB[EHO0PERHILL)

B 133 BUMBLEPEREOEDRELTLOE B RS
B8 BENCAUREONER TSR, BEAGIRNEEDRL)
—0T: f-2F MARCBOAL)HLENTVAL

Sub questions

Question Number : 146 Question Id : 342123612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



( NEAZEREEYLEDEIEND,
J-FOFERICTED
LEREAEL
EHEHITS

. BlT%3EH5

B

Question Number : 147 Question Id : 342123613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(JCAZTREEHEBEDZEND,
1. 95¢&
2. Ll
3. ZLT
4, 5[

Question Number : 148 Question Id : 342123614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[ WEARFLIEFEIEHHN EEREDLSTEFLEZON,

1. HFEEXTUIEAALGHEFELL,
2. BFOBEELPALRIIEFELL
3. HFEFZLME->TUEFLL,

4. BLLVOTHRFZICHLATEFZLL,

Question Number : 149 Question Id : 342123615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

J-FHEEQELR-OEEEN, ZAONABHLLTHREELLEOEREND,
1. BENB SN EIFOFBFEMIENBVELREELEDS
2. BERHAOECELLTTZAI-MEHTERDS
3. EEHNNEADTICFLTETEVIETEFELENS
4, BENYYFRAYMEZDEEH> TV DL RIENS



Question Number : 150 Question Id : 342123616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[ BAEI-FOESEHBYLLEIEH BN, FAZELEEEZLNS,

1. BAPSBLNSETELEEI-FICEWVELSR,
2. BFEOQEIAICV>TEKETEHFEER

3. ROBMSTZADASICHZ2DZPHT

4. LIEo<HELEFLBRVLICLE,





